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Simplify (2a)°
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The area of the cross secfion of
a prism is 30 em”and it is 25 om
long.

Work out the volume of the

30x2S  prism. }M
— %
Work out 126 x 14
without a caleulator
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TUESDAY WEDNESDAY THURSDAY

1
What is 1.2 divided by 0.2?
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Julia and Sam shared some | Write 525 as a product of | What is the HCF of 12 and
money in the rafio 4:3 prime facfors 12 20 207
If Sam got £51 how much did | 5|S525 AT 1,20
J:8 they share? S|16s 3x5%7 :;L‘:, 2:10 HCF = 4
L4 3 £5173:=£17 2 —_ 9"{3, -
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List the factors of 24 | Whatis 90 less than 10 hich is longer-
? &
g 2,.; L2.34,68, A%Thousand 1000 OO Sgmcls or10
38 12,24 _-90 Imin: 603
L6 qq 10 QA0 | o - 60w 83-3600
3600 32y = 86400
-oﬂﬁs = 864000
20 1 22
Work out Write down the first 4 Solve
ISx1 +9x15 terms of the sequence 2p-2=11
without a caleulator on + 4 2 2
15(11+Q) = 15(20) 214 22+t 23 2 dp =B
= 300 6 8 10 12 P:_lzi p-6S
7 28 29
Work out 2 1 Write 501 in standard
ot ST S
without a calculato 2
107 = 18 5630 5,3t 0 5-01x10
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A LITTLE BIT OF MATHS EVERY DAY ...

FRIDAY SATURDAY SUNDAY
‘bg\ N 1 3 6 e 4
; 3. Al Bob and Chris sell cars. A
Wite 54 }_‘0 in standard Al'sells x cars. Z ¢S dx
orm Eob sells 5 more cars than Al 4xeS
5Axl ok Chris sells twice as many cars as Al.
x Wrife an expression. in terms of x. for the mean number of cars Al Bob
and Chris sel. Magn - &xXtS
3
9 10 1u
o, Faclorise e If a fypist can type 50 words per minute. how
el , 3 & | long will i take to type 40 pages with 250 words
12xy-18 xy per page?
éxd @ch- 35) 50 w.p.m 250 woido: 50x5 = Sruawtes
40 pogeo = Sx kO = 200 munulra
16 17 18
Expand and simplify One of the students in a class is chosen af random.
The probability that this student is a gitl is 3/5
3t +4)-24t+1) There are 12 boys in the class.
12-8t-2 Work out the fotal number of students in the class.
‘3_4.5&.’:0 8% by-2-2 ;-6
iy <C‘\ 3 Austuolants = 6x3 '30
24 25
imbli Aop ouole = mx 5% \
Simplify 050 - 78-Sem? A 10{‘
6+8 4.3 Whatisthetotal area
6 xg u8 U that is shaded? m
100 -2Su - 1OCok
= 21-Sem?
30 31
Caleulate Write 540099 in
3 3 3 REMEMBER: THE BEST WAY
F+2°+3 STandard Form s TO REVISE MATHS IS TO "DO
| +8+29 5-L0049 <10 MATHS"!
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